Year 4 Arithmetic Test 9 teStbase

6x3=
1 mark
10 x 12 =
1 mark
95 x1=
1 mark
36+9+9=
1 mark
5
— 4 — =
9
1 mark
75%x0=
1 mark
7979 + 1000 =
1 mark
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T x7=

1 mark
12 x6 =

1 mark
77 +7=

1 mark
28 -4 =

1 mark
8 5_
7 7

1 mark
84-7-7=

1 mark
5050 + 250 =

1 mark
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200 + ? =580

1 mark
3x5x2=

1 mark
?-240=50

1 mark
24 + 8=

1 mark
33+11=

1 mark
45 x 9 =

1 mark

7650

= 2430

1 mark
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2798
+ 3487
1 mark
4x5x9=
1 mark
239
X 4
1 mark
8923 - 158 =
1 mark
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Mark scheme

1. 18
2. 120
3. 95

4, 54

5. gor equivalent
6. 0

7. 8979
8 49

9 72
10. 11
11. 7

12. %or equivalent

© Testbase 2015

[1]

(1]

(1]

[1]

(1]

(1]

(1]

(1]

(1]

(1]

(1]

(1]

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

70

5300

380

30

290

405

5220

6285

180

956

8765
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